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Suppose the equation Ax = b is consistent for some given b, and let p be a
solution. Then the solution set of Ax = b is the set of all vectors of the form
W = p + v;,, where v, is any solution of the homogeneous equation Ax = 0.
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19. Follow the method of Example 3 to describe the solutions of
the following system in parametric vector form. Also, give

a geometric description of the solution set and compare it to
that in Exercise 5.
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Suppose the equation Ax = b is consistent for some given b, and let p be a
solution. Then the solution set of Ax = b is the set of all vectors of the form
W = p - v;. where v, is any solution of the homogeneous equation Ax = 0.

S0 the theorem explains what happens when we solve the

- problem as in the previous section. The idea is to explain

a general understanding of what's going on. That is what

theory means (in mathematical contexts).




